1 2.2.2.2.8.2.0.2.0.90.9.0.0.0.0.90.0.0.90.0.0.90.0.8.0.00.90.900.0200820082000880880088008008008080808.08.90.0.0.
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A

9x10=__
_ x9-=-18
/x9=____
O9x =99
O9x2=__
9x_____ =36
__ x9=81
O9x8=__
11 x =99

Name:
Date:
9x Tables: Multiplication

O9x___ =0 6x9=__
9x9=__ O9x =27
_ x9=9 9x12=__
O9x4=__ Ox___ =18
Ox____ =72 ___x9=63
Ox1=__ 3x9=__
9x_____ =108 O9x0=__
11x9=___ ___x9=90
9 x = 54 Ox9=__

Facts I need to remember:
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1.2.2.2.2.8.2.0.2.0.0.0.0.0.0.0.90.0.0.0.0.0.0.0.8.0.0.0.90.00.0.900.020082002008088028008008008080808.08.0.0.0H



